



Faber Polynomial Coefficient Estimates for Subclasses of m -Fold Symmetric Bi-univalent Functions Defined by Fractional Derivative

Sakar, F. M. ^{*1} and Güney, H. O. ²

¹*Batman University, Faculty of Management and Economics, Turkey*

²*Dicle University, Science Faculty, Turkey*

mugesakar@hotmail.com

** Corresponding author*

Received: 17th January 2017

Accepted: 7th March 2017

ABSTRACT

A new subclass of bi-univalent functions both f and f^{-1} which are m -fold symmetric analytic functions are investigated in this study. We also determine the estimate for the general Taylor-Maclaurin coefficient of the functions in this class. Furthermore, using the Faber polynomial expansion, upper bounds of $|a_{m+1}|$, $|a_{2m+1}|$, and $|a_{m+1}^2 - a_{2m+1}|$ coefficients for analytic bi-univalent functions defined by fractional calculus are found in this study.

Keywords: Univalent function, fractional operator, m -fold symmetric, Faber polynomial.

1. Introduction

Let \mathcal{A} indicate *analytic* function family, which is normalized under the condition of $f(0) = f'(0) - 1 = 0$ in $\mathbb{D} = \{z : z \in \mathbb{C}; |z| < 1\}$, and are in the form of following equation:

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n. \tag{1}$$

Furthermore, let \mathcal{S} indicate the class of functions f given by (1) which are analytic and univalent in \mathbb{D} (see Duren (1983), Akgül (2017)). We recall here the definition of well-known class of starlike functions as $\Re \left\{ \frac{zf'(z)}{f(z)} \right\} > 0$ in \mathbb{D} . This class is represented by S^* . From the Koebe 1/4 Theorem (for details, see Duren (1983)) each univalent function f has an inverse f^{-1} fulfilling

$$f^{-1}(f(z)) = z \quad (z \in \mathbb{D})$$

and

$$f(f^{-1}(w)) = w \quad \left(|w| < r_0(f), r_0(f) \geq \frac{1}{4} \right).$$

On the other hand, f^{-1} is represented by

$$F(w) = f^{-1}(w) = w - a_2 w^2 + (2a_2^2 - a_3)w^3 - (5a_2^3 - 5a_2 a_3 + a_4)w^4 + \dots$$

When both of f and f^{-1} are univalent, $f \in \mathcal{A}$ is known to be *bi-univalent* in \mathbb{D} . Let Σ denote the class of all bi-univalent functions in \mathbb{D} given by (1).

The detailed information about the class of Σ was given in the references Lewin (1967), Srivastava et al. (2010), Brannan and Taha (1986), Netanyahu (1969) and Taha (1981).

Let $m \in \mathbb{N}$. A domain \mathbb{E} is known as *m-fold symmetric* if a rotation of \mathbb{E} around origin with an angle $2\pi/m$ maps \mathbb{E} on itself. It is then seen that, an analytic f in \mathbb{D} being m-fold symmetric satisfies the following condition

$$f\left(e^{2\pi i/m} z\right) = e^{2\pi i/m} f(z).$$

Especially, each f and odd f are one-fold symmetric and two-fold symmetric, respectively. m-fold symmetric univalent functions in \mathbb{D} are represented by

\mathcal{S}_m . In this case $f \in \mathcal{S}_m$ has the following form

$$f(z) = z + \sum_{n=1}^{\infty} a_{mn+1} z^{mn+1} \quad (z \in \mathbb{D}, m \in \mathbb{N}). \quad (2)$$

In Srivastava et al. (2014), defined m-fold symmetric bi-univalent function. They showed that each function $f \in \Sigma$ generates an m-fold symmetric bi-univalent function for each $m \in \mathbb{N}$ and also they brought out the results of such derivations. In addition, the following expansion of f^{-1} was acquired by them. Furthermore, a detailed information was given in Altinkaya and Yalçın (2016) and Altinkaya and Yalçın (2015).

$$F(w) = w - a_{m+1} w^{m+1} + [(m+1)a_{m+1}^2 - a_{2m+1}] w^{2m+1} \\ = - \left[\frac{1}{2}(m+1)(3m+2)a_{m+1}^3 - (3m+2)a_{m+1}a_{2m+1} + a_{3m+1} \right] w^{3m+1} + \dots$$

where $f^{-1} = F$. We denote by Σ_m the class of m-fold symmetric bi-univalent functions in \mathbb{D} .

A whole treatment of this problem is given in books of several authors Oldham and Spanier (1974) and Miller and Ross (1993). However, our study is based on the study of Srivastava and Owa who provide more information for the concept of fractional calculus in Srivastava and Owa (1989).

Let us take f in Eq. (1). Then f is known to be λ -fractional close-to-convex in \mathbb{D} if there is a $g \in \mathcal{S}^*$ satisfying $\Re \left(\frac{D(D^\lambda f(z))}{g(z)} \right) > 0$, ($0 \leq \lambda < 1$) for every z in \mathbb{D} . Such functions are indicated by $K_\Sigma(\lambda)$.

λ -fractional operator was defined by Aydoğın et al. (2013) as follows:

If f is defined by as (1), then $D_z^\lambda f(z) = D_z^\lambda(z + a_2 z^2 + \dots + a_n z^n + \dots)$, where

$$D^\lambda f(z) = \Gamma(2 - \lambda) z^\lambda D_z^\lambda f(z) = z + \sum_{n=2}^{\infty} \frac{\Gamma(2 - \lambda) \Gamma(n + 1)}{\Gamma(n + 1 - \lambda)} a_n z^n.$$

From the definition of $D^\lambda f(z)$ some properties can be given in the following form:

$$i. \lim_{\lambda \rightarrow 1} D^\lambda f(z) = D^1 f(z) = Df(z) = z f'(z);$$

$$\begin{aligned}
 \text{ii. } D^\lambda (D^\delta f(z)) &= D^\delta (D^\lambda f(z)) \\
 &= z + \sum_{n=2}^{\infty} \frac{\Gamma(2-\lambda)\Gamma(2-\delta)(\Gamma(n+1))^2}{\Gamma(n+1-\lambda)\Gamma(n+1-\delta)} a_n z^n,
 \end{aligned}$$

$$\begin{aligned}
 \text{iii. } D (D^\delta f(z)) &= z + \sum_{n=2}^{\infty} \frac{\Gamma(2-\lambda)\Gamma(n+1)}{\Gamma(n+1-\lambda)} n a_n z^n \\
 &= z (D^\delta f(z))' = \Gamma(2-\lambda) z^\lambda (\lambda D_z^\delta + z D_z^{\lambda+1} f(z)),
 \end{aligned}$$

$$\begin{aligned}
 \text{vi. } \frac{D (D^\lambda f(z))}{D^\lambda f(z)} &= z \frac{f'(z)}{f(z)}, \text{ for } \lambda = 0, \\
 &= 1 + z \frac{f''(z)}{f'(z)}, \text{ for } \lambda = 1.
 \end{aligned}$$

Now we start by giving the function class $K_{\Sigma,m}(\alpha, \lambda)$ by means of the following definition

Definition 1.1. Let f in Eq. (2) be $f \in \mathcal{S}_m$. Then f is referred as λ -fractional close-to-convex function in \mathbb{D} if there is a g of \mathcal{S}^* satisfying

$$\Re \left(\frac{D(D^\lambda f(z))}{g(z)} \right) > \alpha \quad \text{and} \quad \Re \left(\frac{D(D^\lambda F(w))}{G(w)} \right) > \alpha \quad (3)$$

where $0 \leq \alpha < 1$, $0 \leq \lambda < 1$, $m \in \mathbb{N}$; $z, w \in \mathbb{D}$ and $F = f^{-1}$ has been defined previously. Also, $K_{\Sigma,m}(\alpha, \lambda)$ shows the class of these functions.

By using the Faber polynomial expansion of $f \in \mathcal{A}$ given in Eq. (1), the coefficients of its inverse map $F = f^{-1}$ may be written as follows (Airault and Bouali (2006)),

$$F(w) = f^{-1}(w) = w + \sum_{n=2}^{\infty} \frac{1}{n} K_{n-1}^{-n}(a_2, a_3, \dots, a_n) w^n, \quad (4)$$

where

$$\begin{aligned}
 K_{n-1}^{-n} &= \frac{(-n)!}{(-2n+1)!(n-1)!} a_2^{n-1} + \frac{(-n)!}{(2(-n+1)!(n-3)!} a_2^{n-3} a_3 \\
 &+ \frac{(-n)!}{(-2n+3)!(n-4)!} a_2^{n-4} a_4 \\
 &+ \frac{(-n)!}{(2(-n+2)!(n-5)!} a_2^{n-5} [a_5 + (-n+2)a_3^2] \\
 &+ \frac{(-n)!}{(-2n+5)!(n-6)!} a_2^{n-6} [a_6 + (-2n+5)a_3 a_4] + \sum_{j \geq 7} a_2^{n-j} V_j,
 \end{aligned}$$

where V_j ($7 \leq j \leq n$) is a homogeneous polynomial in the variables a_2, a_3, \dots, a_n (see, for details, Airault and Ren (2002) and Airault and Bouali (2006)). Especially, the first few terms of K_{n-1}^{-n} are given below:

$$K_1^{-2} = -2a_2$$

$$K_2^{-3} = 3(2a_2^2 - a_3)$$

and

$$K_3^{-4} = -4(5a_2^3 - 5a_2 a_3 + a_4). \tag{5}$$

In general, for any $n \geq 2$ and $p \in \mathbb{Z}$, ($\mathbb{Z} := \{0, \pm 1, \pm 2, \dots\}$) an expansion of K_n^p is given by (see, for details, Airault and Bouali (2006))

$$K_n^p = p a_n + \frac{p(p-1)}{2} E_n^2 + \frac{p!}{(p-3)!3!} E_n^3 + \dots + \frac{p!}{(p-n)!n!} E_n^n \quad (p \in \mathbb{Z}) \tag{6}$$

where $E_n^p = E_n^p(a_2, a_3, \dots)$ and by Airault (2008),

$$E_n^m(a_1, a_2, \dots, a_n) = \sum_{n=1}^{\infty} \frac{m!(a_1)^{\mu_1} \dots (a_n)^{\mu_n}}{\mu_1! \dots \mu_n!} \tag{7}$$

where $a_1 = 1$ and the sum is taken over all nonnegative integers $\mu_1, \mu_2, \dots, \mu_n$ satisfying

$$\begin{cases} \mu_1 + \mu_2 + \dots + \mu_n = m \\ \mu_1 + 2\mu_2 + \dots + n\mu_n = n. \end{cases}$$

In Airault (2008), the following equation is clear $E_n^n(a_1, a_2, \dots, a_n) = a_1^n$.

Similarly, using the Faber polynomial expansion of functions $f \in \mathcal{A}$ of the form (2), that is

$$f(z) = z + \sum_{n=1}^{\infty} a_{mn+1} z^{mn+1} = z + \sum_{n=1}^{\infty} K_n^{\frac{1}{m}}(a_2, a_3, \dots, a_{n+1}) z^{mn+1},$$

the coefficients of its inverse map $F = f^{-1}$ may be expressed as:

$$F(w) = f^{-1}(w) = w + \sum_{n=1}^{\infty} \frac{1}{mn+1} K_n^{-(mn+1)}(a_{m+1}, a_{2m+1}, \dots, a_{mn+1}) w^{mn+1}.$$

The aim of this work is to investigate a new subclass of the bi-univalent functions defined by λ -fractional operator and by using the Faber Polynomials. It is also the goal of this study to obtain upper estimates for the coefficients $|a_{mn+1}|$, $|a_{m+1}|$ and $|a_{2m+1}|$ in this subclass.

2. Coefficient Estimates for the Class $K_{\Sigma,m}(\alpha, \lambda)$

Our first theorem giving by Theorem 2.1 shows an upper bound for the general coefficient $|a_{mn+1}|$ of m -fold symmetric analytic bi-univalent functions in the class $K_{\Sigma,m}(\alpha, \lambda)$.

Theorem 2.1. *Let the function f in (2) be in $K_{\Sigma,m}(\alpha, \lambda)$ ($0 \leq \alpha < 1$ and $0 \leq \lambda < 1$, $m \in \mathbb{N}$). Then*

$$|a_{mn+1}| \leq \frac{(3 - 2\alpha + mn)\Gamma(mn + 2 - \lambda)}{(mn + 1)\Gamma(2 - \lambda)\Gamma(mn + 2)} \quad (n \geq 2).$$

Proof. For the class of $K_{\Sigma,m}(\alpha, \lambda)$ consist of the form (2), we have

$$\begin{aligned} \frac{D(D^\lambda f(z))}{g(z)} &= 1 + \sum_{n=1}^{\infty} \left\{ \frac{(mn + 1)\Gamma(2 - \lambda)\Gamma(mn + 2)}{\Gamma(mn + 2 - \lambda)} a_{mn+1} - b_{mn+1} \right. \\ &\quad + \sum_{l=1}^{n-1} K_l^{-1}(b_{m+1}, b_{m+2}, \dots, b_{ml+1}) \\ &\quad \left. \times \left[\frac{(mn + 1 - ml)\Gamma(2 - \lambda)\Gamma(mn - ml + 2)}{\Gamma(mn - ml + 2 - \lambda)} a_{mn+1-ml} - b_{mn+1-ml} \right] \right\} z^{mn}, \end{aligned} \tag{8}$$

and for its inverse map $F = f^{-1}$ and $G = g^{-1}$ we get

$$\begin{aligned} \frac{D(D^\lambda F(w))}{G(w)} &= 1 + \sum_{n=1}^{\infty} \left\{ \frac{(mn+1)\Gamma(2-\lambda)\Gamma(mn+2)}{\Gamma(mn+2-\lambda)} A_{mn+1} - B_{mn+1} \right. \\ &\quad + \sum_{l=1}^{n-1} K_l^{-1}(B_{m+1}, B_{m+2}, \dots, B_{ml+1}) \\ &\quad \left. \times \left[\frac{(mn+1-ml)\Gamma(2-\lambda)\Gamma(mn-ml+2)}{\Gamma(mn-ml+2-\lambda)} A_{mn+1-ml} - B_{mn+1-ml} \right] \right\} w^{mn}. \end{aligned} \tag{9}$$

On the other hand, since $\frac{D(D^\lambda f(z))}{g(z)} > \alpha$ in \mathbb{D} there is a function with positive real part

$$p(z) = 1 + \sum_{n=1}^{\infty} c_{mn} z^{mn} \in \mathcal{A}$$

so that,

$$\frac{D(D^\lambda f(z))}{g(z)} = \alpha + (1-\alpha)p(z) = 1 + (1-\alpha) \sum_{n=1}^{\infty} c_{mn} z^{mn}. \tag{10}$$

Similarly for $\frac{D(D^\lambda F(w))}{G(w)} > \alpha$ in \mathbb{D} there is a function with positive real part

$$q(w) = 1 + \sum_{n=1}^{\infty} d_{mn} w^{mn} \in \mathcal{A}$$

so that,

$$\frac{D(D^\lambda F(w))}{G(w)} = \alpha + (1-\alpha)q(w) = 1 + (1-\alpha) \sum_{n=1}^{\infty} d_{mn} w^{mn}. \tag{11}$$

We emphasize that, with regard to the Carathéodory Lemma (Duren (1983)), $|c_n| \leq 2$ and $|d_n| \leq 2$.

Comparing the corresponding coefficients of Eqs.(8) and (10) (for any $n \geq 2$) yields:

$$\begin{aligned} & \frac{(mn + 1)\Gamma(2 - \lambda)\Gamma(mn + 2)}{\Gamma(mn + 2 - \lambda)} a_{mn+1} - b_{mn+1} + \sum_{l=1}^{n-1} K_l^{-1}(b_{m+1}, b_{m+2}, \dots, b_{ml+1}) \\ & \times \left[\frac{(mn + 1 - ml)\Gamma(2 - \lambda)\Gamma(mn - ml + 2)}{\Gamma(mn - ml + 2 - \lambda)} a_{mn+1-ml} - b_{mn+1-ml} \right] \\ & = (1 - \alpha)c_{mn} \end{aligned} \tag{12}$$

Similarly, from Eqs.(9) and (11), we can find

$$\begin{aligned} & \frac{(mn + 1)\Gamma(2 - \lambda)\Gamma(mn + 2)}{\Gamma(mn + 2 - \lambda)} A_{mn+1} - B_{mn+1} + \sum_{l=1}^{n-1} K_l^{-1}(B_{m+1}, B_{m+2}, \dots, B_{ml+1}) \\ & \times \left[\frac{(mn + 1 - ml)\Gamma(2 - \lambda)\Gamma(mn - ml + 2)}{\Gamma(mn - ml + 2 - \lambda)} A_{mn+1-ml} - B_{mn+1-ml} \right] \\ & = (1 - \alpha)d_{mn}. \end{aligned} \tag{13}$$

For the special case $n = 1$ from Eqs. (12) and (13) respectively yield,

$$\frac{(m + 1)\Gamma(2 - \lambda)\Gamma(m + 2)}{\Gamma(m + 2 - \lambda)} a_{m+1} - b_{m+1} = (1 - \alpha)c_m$$

and

$$\frac{(m + 1)\Gamma(2 - \lambda)\Gamma(m + 2)}{\Gamma(m + 2 - \lambda)} A_{m+1} - B_{m+1} = (1 - \alpha)d_m.$$

Solving for a_{m+1} and taking the absolute values we can obtain

$$|a_{m+1}| \leq \frac{(3 - 2\alpha + m)\Gamma(m + 2 - \lambda)}{(m + 1)\Gamma(2 - \lambda)\Gamma(m + 2)}.$$

But under the assumption $a_{mj+1} = 0, 1 \leq j \leq n - 1, (n \in \mathbb{N})$ Eqs.(12) and (13) respectively yield,

$$\frac{(mn + 1)\Gamma(2 - \lambda)\Gamma(mn + 2)}{\Gamma(mn + 2 - \lambda)} a_{mn+1} - b_{mn+1} = (1 - \alpha)c_{mn} \tag{14}$$

and

$$\frac{-(mn + 1)\Gamma(2 - \lambda)\Gamma(mn + 2)}{\Gamma(mn + 2 - \lambda)} a_{mn+1} - B_{mn+1} = (1 - \alpha)d_{mn}. \tag{15}$$

Solving either of Eqs. (14) and (15) for a_{mn+1} and taking the absolute values, also applying the Carathéodory's Lemma, we can obtain

$$|a_{mn+1}| \leq \frac{(3 - 2\alpha + mn)\Gamma(mn + 2 - \lambda)}{(mn + 1)\Gamma(2 - \lambda)\Gamma(mn + 2)},$$

noticing that $|b_{mn+1}| \leq mn + 1$ and $|B_{mn+1}| \leq mn + 1$. □

When we take $\lambda = 0$ and one-fold case in our class $K_{\Sigma,m}(\alpha, \lambda)$ we obtain the result of Hamidi and Jahangiri (2014) given by Hamidi and Jahangiri as follows:

Corollary 2.1. *For $0 \leq \alpha < 1$ let the function $f \in \mathcal{S}$ be bi-close-to-convex of order α in \mathbb{D} . If $a_k = 0$, $2 \leq k \leq n - 1$, then*

$$|a_n| \leq 1 + \frac{2(1 - \alpha)}{n}.$$

As a special case to Theorem 2.1 we obtain the following theorem for initial coefficients a_{m+1} and a_{2m+1} ; furthermore, obtain $a_{m+1}^2 - a_{2m+1}$ of the class of $K_{\Sigma,m}(\alpha, \lambda)$.

Theorem 2.2. *Let $f \in K_{\Sigma,m}(\alpha, \lambda)$ and $F = f^{-1} \in K_{\Sigma,m}(\alpha, \lambda)$ for $(0 \leq \alpha < 1$ and $0 \leq \lambda < 1, m \in \mathbb{N})$. Then,*

$$|a_{m+1}| \leq \sqrt{\frac{2(1-\alpha)\Gamma(m+2-\lambda)\Gamma(2m+2-\lambda)}{(2m+1)\Gamma(m+2-\lambda)\Gamma(2-\lambda)\Gamma(2m+2)-(m+1)\Gamma(2-\lambda)\Gamma(m+2)\Gamma(2m+2-\lambda)}}$$

for

$$0 \leq \alpha < 1 - \frac{\Gamma(2m+2-\lambda)[(m+1)\Gamma(2-\lambda)\Gamma(m+2)-\Gamma(m+2-\lambda)]^2}{2\Gamma(m+2-\lambda)[(2m+1)\Gamma(m+2-\lambda)\Gamma(2-\lambda)\Gamma(2m+2)-(m+1)\Gamma(2-\lambda)\Gamma(m+2)\Gamma(2m+2-\lambda)}}$$

and

$$|a_{m+1}| \leq \frac{2(1 - \alpha)\Gamma(m + 2 - \lambda)}{(m + 1)\Gamma(2 - \lambda)\Gamma(m + 2) - \Gamma(m + 2 - \lambda)}$$

for

$$1 - \frac{\Gamma(2m+2-\lambda)[(m+1)\Gamma(2-\lambda)\Gamma(m+2)-\Gamma(m+2-\lambda)]^2}{2\Gamma(m+2-\lambda)[(2m+1)\Gamma(m+2-\lambda)\Gamma(2-\lambda)\Gamma(2m+2)-(m+1)\Gamma(2-\lambda)\Gamma(m+2)\Gamma(2m+2-\lambda)}} \leq \alpha < 1$$

$$|a_{2m+1}| \leq \frac{2(1-\alpha)(m+1)\Gamma(2-\lambda)\Gamma(m+2)-2(1-\alpha)\Gamma(m+2-\lambda)+4(1-\alpha)^2\Gamma(m+2-\lambda)}{(m+1)\Gamma(2-\lambda)\Gamma(m+2)-\Gamma(m+2-\lambda)}$$

$$\times \frac{\Gamma(2m + 2 - \lambda)}{(2m + 1)\Gamma(2 - \lambda)\Gamma(2m + 2) - \Gamma(2m + 2 - \lambda)}$$

and

$$|a_{m+1}^2 - a_{2m+1}| \leq \frac{2(1 - \alpha)\Gamma(2m + 2 - \lambda)}{(2m + 1)\Gamma(2 - \lambda)\Gamma(2m + 2) - \Gamma(2m + 2 - \lambda)}.$$

Proof. For the function $g(z) = D^\lambda f(z)$ in the proof of Theorem 2.1, we obtain $a_{mn+1} = b_{mn+1}$. For $n = 1$ Eqs. (12) and (13) respectively yield:

$$a_{m+1} \left[\frac{(m + 1)\Gamma(2 - \lambda)\Gamma(m + 2)}{\Gamma(m + 2 - \lambda)} - 1 \right] = (1 - \alpha)c_m$$

and

$$a_{m+1} \left[\frac{-(m + 1)\Gamma(2 - \lambda)\Gamma(m + 2)}{\Gamma(m + 2 - \lambda)} + 1 \right] = (1 - \alpha)d_m.$$

From the above two equations, we find the result in the following inequality (by the Carathéodory's Lemma)

$$|a_{m+1}| \leq \frac{2(1 - \alpha)\Gamma(m + 2 - \lambda)}{(m + 1)\Gamma(2 - \lambda)\Gamma(m + 2) - \Gamma(m + 2 - \lambda)}.$$

For $n = 2$ Eqs.(12) and (13) respectively yield

$$a_{2m+1} \left[\frac{(2m+1)\Gamma(2-\lambda)\Gamma(2m+2)}{\Gamma(2m+2-\lambda)} - 1 \right] - a_{m+1}^2 \left[\frac{(m+1)\Gamma(2-\lambda)\Gamma(m+2)}{\Gamma(m+2-\lambda)} - 1 \right] = (1 - \alpha)c_{2m} \quad (16)$$

and

$$(2a_{m+1}^2 - a_{2m+1}) \left[\frac{(2m+1)\Gamma(2-\lambda)\Gamma(2m+2)}{\Gamma(2m+2-\lambda)} - 1 \right] - a_{m+1}^2 \left[\frac{(m+1)\Gamma(2-\lambda)\Gamma(m+2)}{\Gamma(m+2-\lambda)} - 1 \right] = (1 - \alpha)d_{2m}. \quad (17)$$

Adding the above two equations and solving for $|a_{m+1}|$ by applying the Carathéodory's Lemma we have

$$|2a_{m+1}^2| = \frac{(1-\alpha)|c_{2m}+d_{2m}|\Gamma(m+2-\lambda)\Gamma(2m+2-\lambda)}{|(2m+1)\Gamma(m+2-\lambda)\Gamma(2-\lambda)\Gamma(2m+2)-(m+1)\Gamma(2-\lambda)\Gamma(m+2)\Gamma(2m+2-\lambda)|},$$

$$|a_{m+1}| \leq \sqrt{\frac{2(1-\alpha)\Gamma(m+2-\lambda)\Gamma(2m+2-\lambda)}{(2m+1)\Gamma(m+2-\lambda)\Gamma(2-\lambda)\Gamma(2m+2)-(m+1)\Gamma(2-\lambda)\Gamma(m+2)\Gamma(2m+2-\lambda)}}.$$

Substituting $a_{m+1} = c_m(1 - \alpha) \frac{\Gamma(m+2-\lambda)}{(m+1)\Gamma(2-\lambda)\Gamma(m+2)-\Gamma(m+2-\lambda)}$ in Eqs. (16) gives

$$a_{2m+1} \left[\frac{(2m+1)\Gamma(2-\lambda)\Gamma(2m+2)}{\Gamma(2m+2-\lambda)} - 1 \right] - c_m^2 (1-\alpha)^2 \frac{(m+2-\lambda)}{(m+1)\Gamma(2-\lambda)\Gamma(m+2)-\Gamma(m+2-\lambda)} = (1-\alpha)c_{2m}.$$

Then, we can obtain the inequality as follows

$$\begin{aligned} |a_{2m+1}| &\leq \frac{|(1-\alpha)c_{2m}| |(m+1)\Gamma(2-\lambda)\Gamma(m+2)-\Gamma(m+2-\lambda)| + |c_m(1-\alpha)|^2 \Gamma(m+2-\lambda)}{|(m+1)\Gamma(2-\lambda)\Gamma(m+2)-\Gamma(m+2-\lambda)|} \\ &\quad \times \frac{\Gamma(2m+2-\lambda)}{|(2m+1)\Gamma(2-\lambda)\Gamma(2m+2)-\Gamma(2m+2-\lambda)|} \\ &\leq \frac{2(1-\alpha)(m+1)\Gamma(2-\lambda)\Gamma(m+2)-2(1-\alpha)\Gamma(m+2-\lambda)+4(1-\alpha)^2\Gamma(m+2-\lambda)}{(m+1)\Gamma(2-\lambda)\Gamma(m+2)-\Gamma(m+2-\lambda)} \\ &\quad \times \frac{\Gamma(2m+2-\lambda)}{|(2m+1)\Gamma(2-\lambda)\Gamma(2m+2)-\Gamma(2m+2-\lambda)|}. \end{aligned}$$

Lastly, subtracting Eqs. (16) from (17), we have $|a_{m+1}^2 - a_{2m+1}|$ as follows:

$$|a_{m+1}^2 - a_{2m+1}| \leq \frac{2(1-\alpha)\Gamma(2m+2-\lambda)}{(2m+1)\Gamma(2-\lambda)\Gamma(2m+2)-\Gamma(2m+2-\lambda)}.$$

For $\lambda = 0$ and one-fold case we have for the first initial coefficients of $|a_2|$ and $|a_3|$ of Hamidi and Jahangiri (2014). □

Corollary 2.2. For $0 \leq \alpha < 1$ let $f \in S^*(\alpha)$ and $F = f^{-1} \in S^*(\alpha)$. Then

$$(i) \quad |a_2| \leq \begin{cases} \sqrt{2(1-\alpha)}; & 0 \leq \alpha < \frac{1}{2}; \\ 2(1-\alpha); & \frac{1}{2} \leq \alpha < 1 \end{cases}$$

and

$$(ii) \quad |a_3| \leq \begin{cases} 2(1-\alpha); & 0 \leq \alpha < \frac{1}{2}; \\ (1-\alpha)(3-2\alpha); & \frac{1}{2} \leq \alpha < 1. \end{cases}$$

References

- Airault, H. (2008). Remarks on faber polynomials. *Int. Math. Forum*, 3(9):449–456.
- Airault, H. and Bouali, A. (2006). Differential calculus on the faber polynomials. *Bull. Sci. Math.*, 130(3):179–222.
- Airault, H. and Ren, J. (2002). An algebra of differential operators and generating functions on the set of univalent functions. *Bull. Sci. Math.*, 126(5):343–367.
- Akgül, A. (2017). On second-order differential subordinations for a class of analytic functions defined by convolution. *J. Nonlinear Sci. Appl.*, 10:954–963.
- Altınkaya, S. and Yalçın, S. (2015). Coefficient bounds for certain subclasses of m -fold symmetric bi-univalent functions. *Journal of Mathematics*, Article ID: 241683.
- Altınkaya, S. and Yalçın, S. (2016). Coefficient bounds for two new subclasses of m -fold symmetric bi-univalent functions. *Serdica Mathematical Journal*, 42(2):175–186.
- Aydoğan, M., Kahramaner, Y., and Polatoğlu, Y. (2013). Close-to convex defined by fractional operator. *Applied Mathematical Sciences*, 7(56):2769–2775.
- Brannan, D. A. and Taha, T. S. (1986). On some classes of bi-univalent functions. *Mathematical Analysis and Its Applications*, 31(2):70–77.
- Duren, P. L. (1983). *Univalent Functions*. New York: Springer-Verlag, Grundlehren der Mathematischen Wissenschaften, Band.
- Hamidi, S. G. and Jahangiri, J. M. (2014). Faber polynomial coefficient estimates for analytic bi-close-to-convex functions. *Comptes Rendus de l'Académie des Sciences*, 352:17–20.
- Lewin, M. (1967). On a coefficient problem for bi-univalent functions. *Proceedings of the American Mathematical Society*, 18(1):63–68.
- Miller, K. S. and Ross, B. (1993). An introduction to the fractional calculus and fractional differential equations. *John Wiley and Sons, Inc.* New York.
- Netanyahu, M. E. (1969). The minimal distance of the image boundary from the origin and the second coefficient of a univalent function in $|z| < 1$. *Arch. Rational Mech. Anal.*, 32(Issue 2):100–112.

- Oldham, K. B. and Spanier, J. (1974). The fractional calculus. *Academic Press*.
- Srivastava, H. M., Mishra, A. K., and Gochhayat, P. (2010). Certain subclasses of analytic and bi-univalent functions. *Applied Mathematics Letters*, 23(10):1188–1192.
- Srivastava, H. M. and Owa, S. (1989). *Univalent Functions*. New York: Halsted Press, Ellis Horwood Limited, Chichester and John Wiley and Sons.
- Srivastava, H. M., Sivasubramanian, S., and Sivakumar, R. (2014). Initial coefficient bounds for a subclass of m-fold symmetric bi-univalent functions. *Tbilisi Mathematical Journal*, 7(2):1–10.
- Taha, T. (1981). *Topics in Univalent Function Theory*. PhD thesis, University of London, London, UK.